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1. Okumura model
<Okumura.m>
clc; clear;

site = 'A3 &

height = load(strcat(site, '.txt"));
property = load(strcat(site, '(§4).txt"));
water = load(strcat(site, '(water).txt'));
|_data = length(height);

; 2 AR Ge. gAY, o), oAk A3x) datarx AAY text WA E FAE T s
LE(m), 374 %4 (Urban, Suburban &), 183 TxZHH 7} AX71A 9 B=E 7k 7

olih il 9 Au= Az AdmE TR,

x = zeros(l_data, 20);

% column 1: distance from transmitter position

% column 2: height from the sea level

% column 3: Property 0:Water 1:0pen 2:Rural 3:Suburban 4:Urban 5:Densed Ur.

% column 4: Terrain undulation height (receiving points should be over 10km from the
transmitter)

% column 5: Median height(from 10 km ahead of the receiving point)

% column 6: The free—space field strength E_fs
% column 7: The median attenuation relative to free space
% column 8: The base station antenna height gain factor



% column 9: The vehicular station antenna height gain factor

% column 10: Terrain property correction factor Suburban +9.6, Open + 28.3

% column 11: Distance ratio for the mixed land sea path(Percent)

% column 12: Mixed land—see correction factor

% column 13: Rolling hilly terrain correction factor Kh

% column 14: Fine correction factor Khf table

% column 15: Total rolling hilly terrain correction factor Kh + Khf

L RS 43 golsbll d7] Sls) xehe We] 7t A 9ok o] MAEsith @ % 9l
3 FAHOoR AAste], ol Fe] ;e WY} old, tn o] HolstEE A3t
temp1 = linspace(0, (I_data—-1)*500, I_data);

x(:,1) = temp1";

x(:,2) = height;

x(:,3) = property

h_ga = mean(x(7:31,2)); % Average Ground Level

h_te = (x(1,2) + 30) - h_ga; % Base Station Effective Antenna Height

for pp = 21:|_data
[temp2, temp3] = ecdf(x(pp-20:pp,2));
temp4 = interp1(temp?2, temp3, [0.1 0.5 0.9]');
x(pp,4) = temp4(3) — temp4(1);
dX(DD,5) temp4(2);
en

; TxZHE 10km o] Wolx 9= AHEA diste] terrain undulation height % 1
mediane 7317] 8] ecdf FTE &35, ecdf 4= T3 dataE AHEEFY] ecf
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% E_fs : The free—space field strength
x(5:end,6) = —20*log10(x(5:end,1)) + 166.9;

% A_mu : The median attenuation relative to free space(should be sub.)
Amu800x [1 23510 20 30 40 50] » 1000;

Amu800y = [19.2 22.5 24.2 26.2 29.2 31.8 36.0 40.2 44.8];

x(5:end,7) = interp1(Amu800x, Amu800y, x(5:end,1));

% h_tu : The base station antenna height gain factor
HteTablex = [300 400 500];
HteTabley = [3.2 5.8 8 3.7 6.5 9; 45 75 10; 5 85 11.2; 5.2 9 12];

temp1 = zeros(5,1); % height gain factor table for h_te
for pp = 1:5

tempi(pp,1) = interp1(HteTablex, HteTabley(pp,:), h_te);
end

for pp = 5l data
if x(pp.1) <= 10000
x(pp,8) = temp1(1,1);

else
g x(pp,8) = interp1([10000 20000 40000 60000 70000]', templ, x(pp,1));
en
end

% h_ru : The vehicular station antenna height gain factor
x(5:end,9) = —-3*ones(l_data-4,1);

% E_mu : The median field strength
E_mu = zeros(l_data,1);



E_mu(5:end) = x(5:end,6) — x(5:end,7) + x(5:end,8) + x(5:end,9);

; Okumura modelolA AAAE o =9 7]Ho] FHi= urban ¥4, quasi-smooth terrain®l
/19] median field strength® E_mu W42 73890 median attenuation, base station
antenna height gain factorg T-3}7] 9lal g~ & F3l] 1> LS interpolation 3}oF
itk mFA] 9} vehicular station antenna height gain factor: FoI% 34 AA(1.5m)9

oal -3dBe] LA glo] w A

% Correction for a suburbun / Open area
for pp = 5:|_data

if (x(pp,3) == 2) | (x(pp,3) == 3) % Rural or Suburban
x(pp,10) = 9.6;
elseif x(pp,3) == 1 % Open

x(pp,10) = 28.3;
end
end

% Correction for a mixed land—see path
WaterTablex = [0 10 20 30];
WaterTabley = [0 2 3.7 5, 035.37.3:0051524, 01526 4.1];

clear temp1; clear temp?2;
x(5:end,11) = water(5:end) ./ x(5:end,1) * 100;
for pp = 5:l_data

if x(pp=1,11) < x(pp, 11)

temp1 = interp1(WaterTablex, WaterTabley(1,:), x(pp,11));
temp?2 = interp1(WaterTablex, WaterTabley(2,:), x(pp,11));
else
temp1= interp1(WaterTablex, (WaterTabley(1,:) + WaterTabley(3,:))/2, x(pp,11));
temp2= interp1(WaterTablex, (WaterTabley(2,:) + WaterTabley(4,:))/2, x(pp,11));

end

if x(pp,1) < 30000
x(pp,12) = templ;
else
x(pp,12) = interp1([30000 60000], [templ temp2], x(pp,1));
end
end

% Correction for Urban / Suburban / Open / mixed land—sea path

K1 = zeros(l_data,1);

Ki1(5:end,1) = E_mu(5:end,1) + x(5:end,10) + x(5:end,12);

; urban area street®] orientation factor: FoZ 27 AR a1ystA Fkrh
suburban % open areaZ9 W3S 93] Z-7 9.6dB, 28.3dBE U3 o, Y A=
718 water?] BH|Fo] AgHow I AR o thifA = mixed land-water

correction® 4 £3}% ).

% Correction for a rolling hilly terrain
clear templ; clear temp?2;

templ = [453 922];
temp2 = [1.3 0 -0.8 -2.7 -4.5 -5.8 -8 -10.5 -12 -16.3 =18 -23 -25.5; 1.3 0.7
-0.3 -1 -2 -3 -5 -7 =10 -12 -16 -19.5 -22];
]t<h8OOI\/IHz1T?g|e = zeros(13, 1); % K_h factor Table for f = 800MHz
or pp = 1:
] Kh800MHzTable(pp,1) = interpi(temp1', temp2(:,pp),800);
en

x(21:end,13) = interp1([10 15 20 30 40 50 70 100 150 200 300 400 500]',



Kh800MHzTable, x(21:end,4));

% Fine correction for a rolling hilly terrain

clear temp1; clear temp?2;

templ = [10 20 30 40 50 70 100 150 200 300 400 5001];
temp2 = [2 5.2 7 8.3 9.1 10.5 12 13.2 14 15.2 16 16.8];
x(21:end,14) = interp1(templ, temp2, x(21:end,4));

clear temp1; clear temp?2; clear temp3;
for pp = 21:|_data
[templ, temp2] = ecdf(x(pp—20:pp,2));
temp3 = interp1(tempi, temp2, [0.1 0.5 0.9]');
if x(pp,2) < temp3(1)
x(pp,15) = x(pp,13) — x(pp,14);
elseif x(pp,2) > temp3(3)
| x(pp,15) = x(pp,13) + x(pp,14);
else
dX(DD,T5)=><(DD.13)+X(DD,14)*(2*(X(DD,2) - temp3(1))/(temp3(3)-temp3(1)) -1);
en
end

; ol AE data® 2 o, =5 HRolA 10km °]F¢ RE AL rolling hilly
terrain®] £33t S8 yEs Ato] @ar gxo] AlEr] Wi, isolated mountaing &
|8 A= FEoX 4F o]y}, 10km Hol7b HE FEo U AAZY $71 sl

q gt
rolling hilly terrain® $3+ correction ® fine correction ¥+ 183 FAth

total_field = zeros(l_data, 1);
total_field(5:end) = K1(5:end);
total_field(20:end) = total_field(20:end) + x(20:end,15);
for pp = 5:|_data

if total_field(pp) > x(pp,6)

total_field(pp) = x(pp,6);

end

end

figure(1)
plot(x(5:end,1), E_mu(5:end), x(5:end,1), K1(5:end), x(5:end,1), total_field(5:end))

; 19683 AetE modelo] 7] wWF-ol, oJ8] correction factor 5°] ¥A3 s £ = 3
AE 71A a3l ot 53] urban FAHS V|E o2 F4 fields 3 ¥, corrections 3
FE=d), 1960 d e urban® A urband 1 7|E I Fa de8td AEZ o7l I
g 8 = 9t} g E9 open ¥ suburban® Z-$% 1 correction factor’} &7 &
T At dHS A A Q)




2. ITU-R P.1546 model
<ITU_R_P1546.m>

cle; clear;

site = '2/ERY

height = load(strcat(site, '.txt')); % heights from the sea level at each
B?S;')té?tny = load(strcat(site, '(S54).txt)); % property(Urban, Suburban, Open,

Water) at each position
Water = load(strcat(site, '(Water).txt'));

data_num = length(height); % data size
distance = 0.5 * [0O:data_num-1]"% % distance from Tx position

frequency = 800;
time = 1;

; P1546 model= "9~ A&stA A 57F Sof gl7] wol, v Arg d=sh=d 3l

o EHE ol§3He AHgAe] AQ) Ware] Fojz o

[e]

time variabilitye] tgt AL, TEAEQA FoIx Zdo] g7
H WY 4743 A9E A7) 98] 1% time variabilityS A€

3 location variability® 50% ZE2] S o] &3tk

field_strength = zeros(data_num, 6);

for d1 = 1:data_num
if distance(d1) < 2
continue;
end

% hi
if distance(d1) >= 15
| h1 = mean(height(7:31)) + 30;
else
dh1 = mean(height([ceil(0.2*distance(d1)/0.5)+1:distance(d1)/0.5+11)) + 30;
en

if Water(d1) == 0

% Land path

field_strength(di1,1) = Get_field_strength_1546(frequency,time,

'Land', distance(d1), h1);

else

% Mixed path

d_l = distance(d1) — Water(d1) * 0.001;

delta = Get_field_strength_1546(frequency, time, 'Land', d_I, h1)

— Get_field_strength_1546(frequency, time, 'WarmSea', d_I, ht);

E_sea =Get_field_strength_1546(frequency, time, 'WarmSea', distance(d1), hi);
E_land = Get_field_strength_1546(frequency, time, 'Land', distance(d1), ht);
E_mix = E_sea + delta;

if E_mix < E_land
E_mix = E_land;
elseif E_mix > E_sea
E_mix = E_sea;
end
delta_E = E_mix — E_land;

aloha = 0.3; beta = 0.0001;
chi = alpha + (1-alpha) * exp(-=1 * (beta * d_I"(2.42 - 0.0003527*h1)));



field_strength(d1,1) = E_land + delta_E * chi;
end

% Correction for receiving/mobile antenna height
if property(d1) == % densed-urban

R = 30;
elseif property(d1) == 4 % urban

R = 20;

else
R =10 % suburba, rural, open, water
end
R_prime = (1000 * distance(d1) * R — 15 = h1) / (1000 * distance(d1) - 15);
if R_prime < 1
R_prime = 1;
en
h2 = 1.5;

if (property(d1) >= 4) && (h2 < R_prime)
K_nu = 0.0108=sart(frequency);
h_dif = R_prime — h2;
theta_clut = atand(h_dif/27);
nu = K_nu * sart(h_dif * theta_clut);
J = 6.9 + 20*log10(sart((nu-0.1)"2 +1)+nu-0.1);
field_strength(d1,2) = 6.03 - J;
else
K_h2 = 3.2 + 6.2 * log10(frequency);
dfield_strength(d1,2) = K_h2 * log10(h2/R_prime);
en

% Terrain clearance angle correction
if property(d1) ==

continue;
end

theta_r = atand((height(1) + 30 — height(d1) — h2)/(1000*distance(d1)));

theta = —Inf;
for pp = d1-1:-1:d1-32
if pp ==
break;
end
temp_theta = atand((height(pp)—height(d1)-h2)/
(1000=(distance(d1)-distance(pp))));
if temp_theta > theta
theta = temp_theta;
end
end
theta_tca = theta — theta_r;

if theta_tca < -0.8
theta_tca = -0.8;
elseif theta_tca > 40
theta_tca = 40;
end

nu_prime = 0.036+*sart(frequency);

nu = 0.065 * theta_tca * sart(frequency);

field_strength(d1,4) = (6.9 + 20*log10(sart((nu_prime—0.1)"2 +1) + nu_prime-0.1))
- (6.9 + 20*log10(sgrt((nu=0.1)"2 +1) + nu-0.1));

end

; al#ls] Fojokst correction factorol] el 4241 StElu ipo], A A Hol|q9

A A SIS sgole] Mdel oF ), Huh Aeket AdE e terrain




clearance angle 187} th o] & A8 XYM IE =olo HYo 93 73y B
s AA Aol Hig 7“1-17} 5okl 7E s ok

field_strength(:,5)
field_strength(:,6)

ield_strength(:,1) + field_strength(:,2);
ield_strength(:,1) + field_strength(:,2) + field_strength(:,4);

—h —h

figure(2)
plot(distance(5:end), field_strength(5:end,1), distance(5:end), field_strength(5:end,5),
distance(5:end), field_strength(5:end,6))
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<Get_field_strength_1546.m>

; frequency, distance, heightol]l ™ 3}ed, Table ¢Foll U= Fko] ol A
limit, upper limit®] X & field strengthE AXFsIY] interpolation 3Fi= $kolt). £4
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function y = Get_field_strength_1546(freq, ti, prop, dis, hei)

freq_Table = [100 600 2000];

d_Table = [1 2345678910 11 12 13 14 15 16 17 18 19 20 25 30 35 40 45
50 55 60 65 70 75 80 85 90 95 100 110 120 130 140 150 160 170 180 190 200
225 250 275 300 325 350 375 400 425 450 475 500 525 550 575 600 625 650 675
700 725 750 775 800 825 850 875 900 925 950 975 1000];

h1_Table = [10 20 37.5 75 150 300 600 1200 Infl;

% frequecny = [f_inf f_sup f]

frequency = zeros(1,3);

frequency(1,3) = freq;

temp = find(freq_Table <= freq); frequency(1,
temp = find(freg_Table > freq); frequency(1,

% d = [d_inf d_sup d]
d = zeros(1,3);
d(1,3) = dis;

1) = freg_Table(temp(end));
2) = freg_Table(temp(1));

temp = find(d_Table <= dis); d(1,1) = d_Table(temp(end));
temp = find(d_Table > dis); d(1,2) = d Table(temp(1))

% h1 = [h1_inf h1_sup hi]

h1 = zeros(1,3);

h1(1,3) = hei;

temp = find(h1_Table <= hei); hi1(1,1) = h1_Table(temp(end));
temp = find(h1_Table > hei); hi(1 2) = hi_Table(temp(1));

% [frequency; d; hi]

clear temp; clear max_value;

if strcmp(prop, 'Land')

| max_value = 106.9 — 20xlog10(d(3)):

else

) )max_value =106.9 - 20*log10(d(3)) + 2.38 = (1 — exp(—1 = d(3) / 8.94)) * log(50
ti);

end



temp = zeros(1,15);

% interpolation for d for frequecn 1
temp(1) = Get_field_strength_1546_raw(frequency(1), ti, prop, d(1), h1(1));
temp(4) = Get_field_strength_1546_raw(frequency(1), ti, prop, d(1), h1(2));

if d(1) == d(3)
temp(3) = temp(1); temp(6) = temp(4);

else
temp(2) = Get_field_strength_1546_raw(frequency(1), ti, prop, d(2), h1(1));
temp(3) = temp(1) + (temp(2) - temp(1)) * log10(d(3)/d(1)) / |og10(d(2)/d(1));
temp(5) = Get_field_strength_1546_raw(f requency(1), ti, prop, d(2), h1(2));
CItemp(G) = temp(4) + (temp(5) — temp(4)) * log10(d(3)/d(1)) / log10(d(2)/d(1));
en
% interpolation for h1 for frequency 1
if h1(1) == h1(3)
| temp(7) = temp(3);
se
° temp(7) = temp(38) + (temp(B) - temp(3)) * log10(h1(3)/h1(1)) /
Iogd10(h1(2)/h1( )
en

if temp(7) > max_value
temp(7) = max_value;
end

% interpolation for d for frequency 2

temp(8) = Get_field_strength_1546_raw(frequency(2), ti, prop, d(1), h1(1));
j[ferga()ﬂ) = %e)t_field_strengthj546_raw(frequency(2), ti, prop, d(1), h1(2));
| ==

| temp(10) = temp(8); temp(13) = temp(11);

else

temp(9) = Get_field strength 1546 raw(frequency(Z) ti, prop, d(2), h1(1));
temp(10) = temp(8) + (temp(9) — temp(8)) * log10(d(3 )/d( )) / log10(d(2)/d(1));
temp(12) = Get_field_strength_1546_raw(frequency(2), ti, prop, d(2), h1(2));
temp(13) = temp(11) + (temp(12) - temp(11)) *  log10(d(3)/d(1)) /
Iogd10( (2)/d(1));
en

% interpolation for h1 for frequency 2
if h1(1) == h1(3)
temp(14) = temp(10);

temp(14) = temp(10) + (temp(13) - temp(10)) * logi0(h1(3)/h1(1)) /
log10(h1(2)/h1(1));
end
if temp(14) > max_value

temp(14) = max_value;

else

end

% interpolation for frequency
temp(15) = temp(7) + (temp(14) - temp(7)) * log10(frequency(3)/frequency(1)) /
log10(frequency(2)/frequency(1));
if temp(15) > max_value
temp(15) = max_value;
end

y = temp(15);



<Get_field_strength_1546_raw.m>
; Table ¢toll A= #H& P31z & wf 2= 30|t} P15465 AHES wjo] AREH O A=
Table Qo] gkeltt.

function y = Get_field_strength_1546_raw(f, t, property, d, ht)
% get field strength from text file. frequency, time, path_type, distance,
% h1 should be the number in the table.

if (t == 50) && (strcmp(property, 'WarmSea') || strcmp(property, 'ColdSea'))
property = 'Sea’;
end

temp = load(strcat('P1546W', int2str(f), '_', int2str(t), '_', property, ".txt"));
d_Table = [1 2345678910 11 12 13 14 15 16 17 18 19 20 25 30 35 40 45
50 55 60 65 70 75 80 85 90 95 100 110 120 130 140 150 160 170 180 190 200
225 250 275 300 325 350 375 400 425 450 475 500 525 550 575 600 625 650 675
700 725 750 775 800 825 850 875 900 925 950 975 1000];

h1_Table = [10 20 37.5 75 150 300 600 1200 Infl;

y = temp(d_Table == d, h1_Table == hi);
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1. Okumura model
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2. P1546 model
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